Day 6

TASK3 - Situational Fit and Explain (424 H)

1. Skill Practice 3 . -Reading/ Note-Taking/ Expressions
2. Test Practice 4 -Listening/ Note-taking/ Expressions
-Basic Templates
-Speaking with Templates

-Full Response
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According to the announcement / proposal given in the reading passage,

S should / shouldn't V .

M/W : X -> The man / woman in the dialogue disagrees with this idea.

1. Skill Practice 8
Reading-45sec
Dear Editor

The university has about three miles of unpaved bicycle paths that pass through
the small forest near campus. However, since these paths are not paved, there is
a high risk of accidents. When it rains or snows, dirt turns to mud or icy roads
and become very slippery. So students might slip and fall; this might lead to
serious accidents. Therefore, I suggest that the university pave those paths in
order to increase safety. The pavement will smooth out all the bumps on the
trails, and 1 believe this will encourage more students to exercise and enjoy

riding bikes without worrying about accidents.

David Ree



Note-Taking

>

R : P/ Uni. should pave the bicycle paths in the forest near campus
for safety reasons.

M/W : O/X

1)

2)

Expressions

Li

W :

M :

Bicycle paths should be paved for safety reasons.

+ And then more students will be encouraged to exercise and ride bikes
without worrying about potential accidents.

«  Bycycle T2 ESICH

«  Pass through A& X|L}7ICH (B

« Ride a bike AEAHE EFCH

«  Pass by AKX X|LEZRCE (ZOf)

stening
Hey, Alex! You ride a bike, right? Did you see this letter in the paper?

Yeah, I did, and I've used those paths, and well,,, I'd have to say I agree with

him. When it rains, it's pretty slippery like he said.
: Yeah, I guess you're right, but those tracks are not only for cyclists.

: What do you mean?



W :

M

: As far as I know, these trails were originally made for runners in the past. I
used to run on those trails, but due to an increased demand for more
bicycle paths on campus, the school decided to allow students to ride bikes

on them.

: So?

: So, I mean, if you think about the people who run there, it's much safer to
run on dirt which puts less pressure on their knees. It's really hard to run on
hard surface, and there might be a long-term health consequence of running

on a hard surface, you know?

: Oh, I've never thought about that.

: Yeah, it's very hard on your bones and joints, and it can lead to serious

injuries later on. You know?

: I wasn't aware of that. He really hasn't thought it through then, I guess.

: No, not at all. And besides, I don't like the idea of paving the paths in the

forest.
: Because they'll look unnatural?

Yeah, they won't look natural if the trails are paved with cement or
something artificial. I believe that they should be preserved intact in their
natural state. You know, one of the main reasons people ride bikes or run
outside is that it's a way of enjoying nature. But if the paths are all paved,

they won't feel like they are out in nature.

: That's true. It wouldn't be as relaxing.



Note-Taking

» R : Uni. should pave the bicycle paths in the forest near campus for safety

reasons.

W : X

1) X only for cyclists but - runners (X for knees — negative health effects)

2) X look natural / road with cement/ preserved intact (main reason — enjoy

nature)

Extra Expressions

~ots B8O / ~2f L0

s = ot/ E7IC
EHEX] §2 M= EELICE

cause serious damage to

have major negative effects on

build[make] a road / pave

in the middle of

enjoy nature

be preserved intact



Basic Templates : X|Qt

R/X|@t = According to the proposal given in the reading passage,

L/2tCH > The woman in the dialogue disagrees with this idea.
She gives two reasons.

Reason 1 - First of all, she says that

Reason 2 - Secondly, she mentions that

Conclusion = So, for these reasons,

she thinks that this whole proposal is really a bad idea.

Speaking with Templates
1. Reading

According to the reading passage, the university should pave the bicycle paths
in the forest near campus for safety reasons. Then more students would be
encouraged to exercise and ride bikes without worrying about potential

accidents.
2. Listening

The woman in the dialogue disagrees with this idea. She gives two reasons.

3. Reasoning

First of all, she says that the paths are not only for cyclists but for runners as
well. Running on a hard surface may cause serious damage to the body since
it puts a lot of pressure on students’ knees. So, she thinks it's not a great idea

to pave the roads.

Secondly, she mentions that it's unnatural to build roads in the middle of the
forest. She believes that nature should be preserved intact. and paving the

paths is even against most students’ interests because they ride bikes to enjoy

6



nature.
4. Conclusion

So, for these reasons, she thinks this whole proposal is really a bad idea.

Full Response

According to the proposal given in the reading passage, the university should
pave the bicycle paths in the forest near campus for safety reasons. The woman
in the dialogue disagrees with this idea. She gives two reasons. First of all, she
says that the paths are not only for cyclists but for runners as well. Running on a
hard surface may cause serious damage to the body since it puts a lot of
pressure on students’ knees. Secondly, she mentions that it's unnatural to build
roads in the middle of the forest. She believes that nature should be preserved

intact. So, for these reasons, she thinks this whole proposal is really a bad idea.

Skill Practice 4

Reading-45sec
Computer Lab Reservation Policy
To whom it may concern,

I would like to express my concerns over computer lab waiting times. Many
students have to wait in line to use a computer for up to 30 or 40 minutes,
sometimes more. Then when they finally do get access to a computer, the noise
coming from those talking in line is very distracting. I suggest that Computing
Services implement a reservation policy whereby students book the time they
need to work on the computer. Also, implementing a time limit on how long

students may spend on the computers will help alleviate lengthy waiting times.



Note-Taking

« R : P/ Computing Services should implement a reservation policy for using

computers and there should be a time limit too.
M/W : O/X
1

2)

Expressions
» Uni. should institute a reservation policy for the computer use.

» There should be a reservation policy and a time limit for computers in the
lab.

+ And then students do not have to wait for a long time.

« Implement Aldstrt

«  Time limit S (=l N

« Institute = ASICH

«  Wait (for) a long time Qeh AlZH 7|Ct2|Ct.
Listening

M : Did you happen to see the letter Computing Services posted on their
website from one of the student union senators? I think they are

considering the proposition.

W : You mean the one suggesting a reservation policy in the computer labs?
That is a bad idea.

M : What makes you say that? I thought it was a fairly decent idea.
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W : Are you kidding? First of all, what if someone makes a reservation and doesn’
t show up, or shows up late? That means the computer sits unused, which is
not good. If the person does eventually show up and the next person on

the list is using the computer, there will be a problem.

M : I suppose there would be a problem or two. But at least we would spend

less time waiting for computers and spend more time working on them.

W : That's just the thing. You might be in the middle of working on something
and then you have to stop because your time is up. You would not be able
to work on it again until the next timeslot you reserved. This proposal is

going to cause problems rather than fix them.

Note-Taking

» R :P/There should be a reservation policy and a time limit for computers in
the lab

W: X
1) show up late (com. — unused - prob.)

2) stop in the middle/ — time/up > time limit X

Expressions

AMEEX| A= unused (*machines sit unused)

=HMZE Y27\t cause problems (*cause inconvenience 2 HE& FL})
Of| 25t make a reservation [booking]

o220l Y2 == AULCH there might be a case



of) LIEFLICE show up
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Yk

Basic Temlates : |2t
R/X|2F = According to the proposal given in the reading passage,
L/2tCH > The woman in the dialogue disagrees with this idea.
She gives two reasons.
Reason 1 - First of all, she says that
Reason 2 = Secondly, she mentions that

Conclusion = So, for these reasons, she thinks that this whole proposal is

really a bad idea.

Speaking with Templates
1. Reading

According to the proposal given in the reading passage, there should be a
reservation policy and a time limit for computers in the lab. Then students would

not have to wait for a long time.
2. Listening

The woman in the dialogue disagrees with this idea. She gives two reasons.

3. Reasoning

First of all, he says that this policy could cause a lot of problems because some
students may make reservations but not show up or show up late. In that case,
computers might sit unused or the next students on the list might get confused

about whether to use the computers or not.
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Secondly, he mentions that a time limit could cause another problem. For
example, students might have to stop in the middle of their work because of the
time limit. If they have to come back later to use the computers, that will be

really inconvenient for them.
4.Conclusion

So, for these reasons, she thinks this whole proposal is really a bad idea.

Full Response

According to the proposal given in the reading passage, there should be a
reservation policy and a time limit for computers in the lab. Then students would
not have to wait for a long time. The woman in the dialogue disagrees with this
idea. She gives two reasons. First of all, she says that this policy could cause a lot
of problems because some students may make reservations but not show up or
show up late. Secondly, she mentions that a time limit could cause another
problem. For example, students might have to stop in the middle of their work
because of the time limit. If they have to come back later to use the computers,
that will be really inconvenient for them. So, for these reasons, she thinks this

whole proposal is a really bad idea.
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Dear Editor

The university has about three miles of unpaved
bicycle paths that pass through the small forest near
campus. However, since these paths are not paved,
there is a high risk of accidents. When it rains or
snows, dirt turns to mud or icy roads and become
very slippery. So students might slip and fall; this
might lead to serious accidents. Therefore, I suggest
that the university pave those paths in order to
increase safety. The pavement will smooth out all the
bumps on the trails, and I believe this will encourage
more students to exercise and enjoy riding bikes
without worrying about accidents.

David Ree
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Now listen to two students discussing the letter
recommending the university to pave the bicycle

paths near campus.

W: Hey, Alex! You ride a bike, right? Did you see this
letter in the paper?

M: Yeah, I did, and I've used those paths, and well,,,,
I'd have to say I agree with him. When it rains,
it's pretty slippery like he said.

W: Yeah, I guess you're right, but those tracks are
not only for cyclists.

M: What do you mean?
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. As far as I know, these trails were originally made

for runners in the past. I used to run on those
trails, but due to an increased demand for more
bicycle paths on campus, the school decided to

allow students to ride bikes on them.

: So?

: So, I mean, if you think about the people who
run there, it's much safer to run on dirt which
puts less pressure on their knees. It's really hard
to run on hard surface, and there might be a
long-term health consequence of running on
hard surface, you know?

: Oh, I've never thought about that.

: Yeah, it's very hard on your bones and joints, and
it can lead to serious injuries later on. You know?

: I wasn’t aware of that. He really hasn't thought it
through then, I guess.

: No, not at all. And besides, I don't like the idea
of paving the paths in the forest.

: Because they'll look unnatural?

: Yeah, they won't look natural if the trails are
paved with cement or something artificial. I
believe that they should be preserved intact in
their natural state. You know, one of the main
reasons people ride bikes or run outside is that
it's a way of enjoying nature. But if the paths

are all paved, they won't feel like they are out in

nature.

M: That's true. It wouldn't be as relaxing.

long-term consequence 27|&M ZHZ A1} | artificial 212|X 2l | pave (T 2E) ZASICt | preserve HZE=3}
2iStCt | increased demand S7t=l =9, @1 |

o

Ct | intact &CHX| 22 |joint ZtE |lead to ~= =

slippery 0O|112{2 | cyclist X}7{ Ef= AtZl | think through 23| A 2tsiCt
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Test Practice 4
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Computer Lab Reservation Policy

AKX B, To whom it may concern,

Ne AEHAOAM CYf7|8t= A2 E Qlst RBHE I would like to express my concerns over computer

HSIDAF SHL|CH Tt SHMES ZHIEHE AlRS}HY| lab waiting times. Many students have to wait in line

2IsHAM 302 WXl 402, MX|0j= § 22§ 7|Ct2{of | to use a computer for up to 30 or 40 minutes,

ShL|Ct Og|Ct ORIl HEEHE AFESHA &/ CH7| | sometimes more. Then when they finally do get

AE0| We 30| 0 g7tdLCh N& HFH access to a computer, the noise coming from those

MH|A MEO|M SHES0| ZEEHE AMRY|OF St= talking in line is very distracting. I suggest that

AlZHE oSt o|UHE A7\ E Mot Ct. Computing Services implement a reservation policy

Lot AREE AESIE A2t A2 HAIStE A2 | whereby students book the time they need to work

20 7] AMZHE == AL} on the computer. Also, implementing a time limit on

how long students may spend on the computers will
help alleviate lengthy waiting times.

=71X & siH

sHAH0| 22 HX|0) CHSH S &HAH0| 0|OF7|8l= ZHE | Listen to two students talking about a letter

E0EAN Q. written by a student.

o HEH AMH|A ME RAMO|EO S 2|20| M : Did you happen to see the letter Computing
22 Xl 20? MEM= O Ho AtstEs A Services posted on their website from one of
Esln Q= BYO0|oF the student union senators? I think they are

o : AEEHAO OUNZE AAISHRID HQtst H? = considering the proposition.

o AZF ZFX| 2O} W : You mean the one suggesting a reservation
Lo A MZE? L MES|] 22 AMZEol A policy in the computer labs? That is a bad idea.
zeq| M : What makes you say that? I thought it was a

O : MO} @M, O AF2IO| O Ls=0 LIEFLIX]| fairly decent idea.

7L = @ o= o7 08 HAEHE A} W : Are you kidding? First of all, what if someone
X = M2 HF=A E L7 8 £X|. a2l makes a reservation and doesn't show up, or
T AFEIO| A3 LIEFSH=0| CHZ|AF HEHY A shows up late? That means the computer sits
C}2 AM2HO| HEHE AF2%tD QoH 2X|7t unused, which is not good. If the person does
AMZL 4= QRO eventually show up and the next person on the
L Jdel, Cha 2X7F A2 = Q7. d2ls MY list is using the computer, there will be a

T J|Cle|= O A|Zto| © Ze|n HAEEE &Y problem.

Sl= A|ZHO| O TFOFE 2~ QIEtO}. M : I suppose there would be a problem or two. But

o : OHE EXOof g gAls| ot Y= == at least we would spend less time waiting for

A|ZH0| CF EffA EHFEOF 8. O3 CIEoZ of fst computers and spend more time working on
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AIZHO| §|7| FJIR|S CHA| 22 o & QIEo} them.
0] Hol&= ENH™E fZsI7|ELte 2HE Y2 | W: That's just the thing. You might be in the middle
Z A of. of working on something and then you have to stop

because your time is up. You would not be able to
work on it again until the next timeslot you reserved.
This proposal is going to cause problems rather than
fix them.
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